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1. Introduction
The core requirements maintenance for R18 ATG was discussion in last meeting with agreements and open issues captured in WF [1]. In this contribution, we further provide our views on remaining issues.
2. Discussion
One issue was discussed in last meeting about whether to change the reference point and definition of deriveSSB-IndexFromCell and deriveSSB-IndexFromCellInter-r17. The progress is summarized as follows:
	Issue 1-1: Whether to change the reference point of the tolerance for deriveSSB-IndexFromCell and deriveSSB-IndexFromCellInter-r17
Agreement:
· Do not change the existing tolerance requirement of deriveSSB-IndexFromCell/Inter-r17. 
· FFS whether need to clarify the applicable scenario for deriveSSB-IndexFromCell/Inter-r17
· FFS: E.g., UE does not expect the deriveSSB-IndexFromCell/Inter-r17 to be set as true when RTD from UE between serving and neighbour cell is large than X
· Other wording of applicability rules are not precluded.



The motivation is that the propagation delay difference could be large in ATG scenario so that the tolerance for deriveSSB-IndexFromCell and deriveSSB-IndexFromCellInter-r17 may be easily exceed. Since UE is aware of the rough BS location and UE’s location, UE is able to estimate the RTD between two Cells and UE can indicate it to NW to help NW to adjust the scheduling restriction. Based on the discussion in last meeting, companies show concerns on changing the definition of these two IE. Since it is highly related to ISD between two Cells, it can be up to NW implementation to either enable or disable them. Then, a followed-up question is whether to define some applicability rules that these two IE shall not be enabled if the RTD is larger than the tolerance. From our understanding, it is the usual business that UE just follow the instruction from NW. Even if these two IE are enabled but the actual RTD is larger than the tolerance, the result is that UE may not be able to find the target the Cell, which can also happen in legacy scenario though less likely. Thus, we are fine to consider following two approaches:
Option 1: Do not clarify the applicable scenario for deriveSSB-IndexFromCell/Inter-r17
Option 2: Clarify in the measurement requirements that requirements don't apply when the deriveSSB-IndexFromCell/Inter-r17 are set as true but the RTD from UE is larger than the required tolerance.
Proposal 1a: Do not clarify the applicable scenario for deriveSSB-IndexFromCell/Inter-r17
Proposal 1b:  Clarify in the measurement requirements that requirements don't apply when the deriveSSB-IndexFromCell/Inter-r17 are set as true but the RTD from UE is larger than the required tolerance.

3. Conclusions
Proposal 1a: Do not clarify the applicable scenario for deriveSSB-IndexFromCell/Inter-r17
Proposal 1b:  Clarify in the measurement requirements that requirements don't apply when the deriveSSB-IndexFromCell/Inter-r17 are set as true but the RTD from UE is larger than the required tolerance.
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